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BefF #524D-0073001 %

JEA T3 oK B S S S R A BB
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No. BRHA fE | TPR{E | sk | No. EHEA fi | TRRME | sweq
1 |2=-Q=F7Fm Thsiy gt [ 0.01 0.01 | 34 |z}7 niiz Ak | 0,01 0.01
2 [BHC (&, B, v, 08) T | 0,01 0.01 | 35 [zh)¥ 7 —h T | 0.01 0.1
3 |EPN e | 0.01 0.01 | 36 [zh)hka Ak | 0.01 0. 01
4 |TCMTB A | 0.01 | 0.01 | 37 [z Fvapy -w A | 0.01 | 0.01
5 |XMC AR | 0.01 0.01 | 38 [tV/} AM77¥ (e, B) R | 0.05 0.5
6 [72)FhY | 0.01 0.01 | 39 [zV/} AMIFVAMT 2=} TEEE [ 0.01 0.01
7 (T4 a2k —w Tk | 0.01 0.01 | 40 A4 70y AR | 0.01 0.01
8 |7V VikAAT A 0.01 0.01 | 41 |4y 3w | 0.5 5
9 |TEhe-p T | 0,01 0.01 | 42 |4Abz—} TR [ 0.1 1
10 |7 ¥vabet’y R | 0.01 | 0.01 | 43 |A%y7mtnd =y T | 001 | 0.01
11 |7h3° v A | 0.01 0.02 | 44 [hx"1HA AR | 0.01 0.01
12 |7=nkx A | 0.01 | 0.01 | 45 [h7avAbe—p At | 0.01 | 0.0l
13 |7AM)v A | 0.01 | 0.01 | 46 [#M7zvb7) vafw T | 0.01 | 0.01
14 73— THai | 0.01 0.01 | 47 [hmk % T | 0.01 0.01
15 |70 b Ju-p THH | 0.01 | 0.01 | 48 [hwk 7254V A | 0.01 | 0.01
16 |44 k7 A [ 0.01 | 0.01 | 49 [k 75y FHiH | 0.01 | 0.01
17 |AJhvE $3 A | 0.01 0.01 | 50 |¥Jwmkz Tt | 0.01 | 0.05
18 |{)¥y" Favzfi TR | 0.01 0.01 | 51 |%/%¥7x¥ A 0.01 0.01
19 |4)7xv#x(and oxon) Tt | 0.01 0.01 | 52 |¥/273v AR | 0.01 | 0.01
20 |47 whng” T | 0.01 0.01 | 53 [¥v/IM Y e | 0.01 0.02
21 {7 vfidiy FRHH | 0.01 | 0.01 | 54 |Jv)%vhitn REeHi | 0.01 | 0.01
22 47" " ViR Tk | 0.01 0.01 | 55 [#u) )3~} AERH | 0.01 | 0.01
23 A AN VR AN FHH [ 0.01 | 0.01 | 56 [fev)y A [ 0,01 0. 02
24 |43n vap) —w A | 0.01 | 0.01 | 57 [Jup7 uy7 AfRH | 0.01 | 0.01
25 [{3nvad) =ni an vy v | REEH | 0.01 0.01 | 58 |Jmhrpdyika AR | 0.01 0.01
26 |4V g’ AR | 0.01 0.01 | 59 |Jupy=wy iFiv TEH | 0.5 5
27 =3 —IP AR | 0.01 | 0.01 | 60 |7uwk” JEr T | 0.01 | 0.01
28 |TA7 w7’ R | 0.01 0.01 | 61 [7uht” JErAFN AR | 0.01 0.03
29 |zya7n7)y ARt | 0.01 0.01 | 62 |Jup7xtt’ W A | 0.0l 0.01
30 |zFtv T | 0.03 0.3 | 63 |4wi7zs)y Tt | 0.01 | 0.01
31 |27 47 2VkR TR | 0.01 | 0.01 | 64 [2ea7svt" vba(E, 2) At | 0.01 | 0.05
32 |x}72v7 mysA A | 0.01 | 0.01 | 65 [7ua7 T7h R | 0.01 | 0.01
33 |zp7At=} Ak | 0,01 | 0.01 | 66 |fn7 n7zh Tt | 0.01 | 0.01
(BL{Z : ppm)
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Bl #524D-0073001%
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No. B4 fESR | TRRMA | gueqm | No. A A | TIRA | e
67 |Jmbn vyh” ARt | 0.01 0.01 | 100 |¥ phz—} TR 0.1 1
68 |fnn=}n7zy (CNP) AR | 0.01 0.01 | 101 [¥AM)¥ AR | 0.01 0.01
69 [Juui7” AR ] 0.00 | 0.01 | 102 [ A AT L—h A | 0.01 | 0.0l
70 [Juan’ sy b} TR | 0.01 0.01 | 103 |¥77WVt7xy T | 0.01 0. 01
71§54V A | 0.0 | 0.01 | 104 [AYzy7 R | 001 | 0.01
72 vty A | 0.01 | 0.01 | 105 |Ak" p¥4iy At | 001 | 0.01
73 |¥7)7=vkA A | 0.01 0.01 | 106 |AW7" ez A | 0.01 0.01
74 [¥7 /%A Tt | 0.01 0.01 107 |V 530 T | 0.01 0.01
75 [V zbzsiy’ FREe | 0.01 0.01 | 108 |41y AREH | 0.01 0.01
76 |V Juyiyh At | 0.01 0.01 | 109 (¥ 47¥" )V AEH | 0.01 0.01
77 |V 70 bR T | 0.01 0.01 |110 |3 47¥—b T | 0.01 | 0.01
78 |V Jn7zFAv R | 0.01 0.01 | 111 [F7~"vh ) =0 T | 0.2 2
79 ¥ 07 b= AR | 0.01 | 0.01 | 112 [F4¥)54 ABEH | 0.01 | 0.01
80 |V Juiky7” AN At | 0.01 0.01 | 113 [FA~"vivy’ A | 0.01 0.01
81 ¥ Jujy ToRRH | 0.01 0.01 | 114 [Fdrbv T | 0.01 0.01
82 ¥ Ankby AEEM | 0.05 0.5 | 115 [F7M7 3 TREH [ 0.01 0.01
83 |V anbiby 2wk AR | 0.01 | 0.01 | 116 |77t > A | 0.01 | 0.05
84 |V FAL W A | 0.01 0.01 | 117 |7hFsmpt’ vikx A | 0.01 0.01
85 |v=} vifu T | 0.01 0.01 | 118 [Fhat) - g | 0.01 | 0.01
86 |yrubly A | 0.06 0.5 | 119 [Fh3¥ kv A | 0.01 | 0.01
87 |yruky7” 7" Fi T | 0.01 | 0.01 | 120 [F=h)n—i A | 0.01 | 0.01
88 [V 7a43} g | 0.01 0.01 | 121 |77 a0 =W TR | 0.01 | 0.01
89 |V 7x)aty - R | 0.01 0.01 | 122 |77 7=y’ 71 AR ] 0.01 | 0.0l
90 [¥7mp)Yy A | 0.01 | 0.01 | 123 |F7mb)y FHH | 0.01 | 0.01
91 |V IN7=zhy i | 0.01 0.01 | 124 |7 Abv-S-#fu T | 0.04 0.4
92 |¥7" waf) -n REeH | 0.01 0.01 | 125 |F MAb)v gL | 0,01 0.01
93 |v7 vy =h A | 0.01 | 0.01 | 126|747 My A | 0.01 | 0.01
94 |y~" MAR)Y T | 0.01 0.01 | 127|747 2 FHEH | 0.005 | 0.005
95 |yzv v AR | 0.01 | 0.01 | 128 [F7Y AW AfRHL | 0.02 0:2
96 _[¥" 541y A | 0.01 | 0.01 | 129 [M7Y Adv R | 0.02 0.2
97 |V MLy FREHI | 0.01 0.04 | 130 |R)7Y" #ka Rt | 0.01 | 0.01
98 |V AFiET VA (E, 7) AR | 0.01 0.01 | 131 [M)7V—b A | 0.01 0.1
99 [V AFFIF A | 0.01 0.01 ] 132 [M¥47)" b AR | 0.01 0.01
(HLA7 @ ppm)
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ERUF #524D-0073001 %

JE A S5 B R e A i i A R B

et JCERER M IERT

No. B4 R | TIRE | sueE | No. B34 e | TERME | euifE |
133 | })7" &4 (DEF) AR | 0.01 0.01 | 166 |7=/¥t=) T | 0.01 0.01
134 | M 7471y AR | 0.01 | 0.05 | 167 [7=/847 ny7 250 Tk | 0.01 0.1
135 | M) 7p&vabot” v A | 0.01 | 0.01 | 168 [7=/¥uhh7 F#E | 0.01 | 0.05
136 | bivgnAsfu THe | 0.01 | 0.01 | 169 |7</FN7" A | 0.01 | 0.0l
137 |37 on" 3} THEH | 0,01 | 0.01 | 170 72073} v At | 0.01 | 0.01
138 |=b71v AR | 0.01 0.01 | 171 |[7zv9miikz T | 0.01 0.01
139 |=pn7zv T | 001 | 0.01 | 172 [Z=vAmEFty R ] 0.01 | 0.01
140 | Jv7ngy" v T | 0.01 | 0.01 | 173 |7=vF4Y AR | 001 | 0.01
141 |»" Ja7" b3)7 = A | 0.01 | 0.01 | 174 |[7xvbr—} A | 0.01 | 0.01
142 N 5F4v T | 0.01 | 0.05 | 175|720 b=} T | 0.05 | 0.50
143 [N G40 AT Tl | 0.1 1.0 | 176 |7xv7 a3 -0 AR | 0.01 | 0.01
144 [MV7207" vy)A A [ 0.01 | 0.01 | 177 [7av7" vn My A | 0.01 | 0.01
145 |b° 2472y A | 0.01 | 0.01 | 178 7494} A | 0.01 | 0,01
146 [b°Fh4 - HH | 0.01 0.05 | 179 |7 #9n—p T | 0.01 0.01
147 |6 72/ 994 At | 0.01 | 0.01 | 180 |77 47t AR | 0.01 | 0.01
148 |b" 7z M)y TERH [ 0.01 0.01 | 181 |77 43k AR | 0.01 0,01
149 [t° A" u=p7” v TR | 0.8 8 182 |77t )b A | 0.01 | 0.01
150 |E° A" mika T | 0.01 0.01 |183|7°7 07z v T | 0.01 0.01
151 [t 97uka A | 0.01 | 0.01 | 184 |7957 w97 4fW A | 0.01 | 0.01
152 [t° 77" & A | 0.01 | 0.01 | 185|717~ e | 0.01 | 0.0l
153 [t 04" 7=vddy T | 0.01 | 0.01 | 186 |7W720E A T | 0.01 | 0.01
154 |b° )5~y A | 0.01 0.01 | 187 [7W%vat) —w TEH | 0.01 0.01
165 |t )7/ 9% TH | 0.01 | 0.01 | 188 |7k A%J=p A | 0.01 | 0.01
156 |t V7" Fhn7° AR | 0.01 | 0.01 | 189 [7wy b 3=} M | 0.01 | 0.05
157 |6° 17" n¥y7xy AR [ 0.01 0.01 | 190 |79 =l A [ 0.01 0.01
168 [t" Y30 )i FN(E, Z) TRt 0.01 0.01 | 191 [FWb7=l TR 0.01 0.01
159 (b7 ) 3ha T AEH | 0.1 1.0 | 192 |7Wb)7=N T | 0.01 0. 01
160 [t n¥ny TR | 0.01 0.01 | 193 |7Mzvt’ pafw e | 0.01 0.01
161 |t"vu) )y A | 0.01 0.01 | 194 |7V3J0799n" sFu A | 0.01 0.01
162 |747° vz THit | 0.01 0.01 | 195 [7M)} > | 0.01 0.01
163 |7 364 R | 0.01 | 0.01 | 196 |7 vFise—n TR | 0.01 | 0.01
164 710 %0 AR | 0.01 | 0.01 |197 |7 my3ky FHH ] 0.01 | 0.01
165 |7z puFdy AFEH | 0.01 0.01 | 198 |7 nf#ika A | 0,01 0.01

(BAL : ppm)
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BRAF 3524D-0073001 %
IR 55 B PR A A B
PR ILBERBER AT

No. B34 AR | THRME %%@ No. FRHEA M | FRR{E ﬁé‘ﬁ—
199 |7 wn’ Ju—ik e | 0,01 | 0.01 | 232 [{nTh A | 0.01 | 0.01
200 |7 nn ¥y A | 0.01 | 0.01 | 233 |[#47ViA TR | 0.01 | 0.01
201 |77 on" i T | 0.01 | 0.01 | 234 [#47%vn A | 0.01 | 0.01
202 |7° on" kA T | 0.01 | 0.01 | 235 |44 F4v A | 0.0l 0.1
203 |77~ W v b A | 0.01 0.01 | 236 [ bFysnp A | 0.01 | 0.01
204 77 nt” 3y —u gt | 0.01 0.01 237 [#h3/abut"V(E, Z) R | 0.01 | 0.01
205 7" nt" 47 3} T | 0.01 0.01 | 238 [AbFFn-ib e | 0.01 0.01
206 |7 n7x/)ika T | 0.01 | 0.01 |239 |27 ¥y T# | 0.01 | 0.01
207 |77 ok %2 AR | 0.2 2 240 [At VA AHH | 0.01 | 0.01
208 |7 n=yi T | 0.01 0.01 | 241 |#7xFtyh R | 0.01 | 0.01
209 |7 uihy AR | 0.01 0.01 | 242 [A7xvt" Wl AR [ 0.01 0.01
210 |7 0E7 F}° AR | 0.0 | 0.01 | 243 [#7 vzi At | 0.01 | 0.01
211 |77 v¥7" nk" -} AHEH | 0.05 0.5 | 244 |T//n}ikn R | 0.01 | 0.05
212 7" vEbazty T | 0.01 0.01 | 245 |£) 3} FRH | 0.01 | 0.01
213 |77 nEbAATN AR | 0.01 0. 01
214 [~¥¥aty” -y AR | 0.01 | 0.01
215 [~y )y A | 0.01 | 0.01
216 [~ 7% Tt | 0.01 0. 05
217 |~ Ja—w Tt | 0.01 0.01
218 |~ vy R | 0.01 | 0.01
219 |~ WAR) Y FHH | 0.01 | 0.01
220 [N vad) —w T | 0.01 0. 05
221 |\ v Ay AR | 0.01 | 0.01
222 |~ vING)y At | 0.01 | 0.01
223 |kfny TR | 0.01 0.01
224 |KAFTE -} A | 0.01 | 0.0l
225 |$4773h v (E, Z) T | 0.01 0.01
226 [FAAy b TE | 0.1 1
227 |K)#2 R | 0.01 | 0.0l
228 |HEfty R | 0.01 0. 01
229 |kb—} TREH | 0.03 0.3
230 |v5F4v A | 0.01 0.01
231|307 4= g | 0.01 | 0.01

(B : ppm)
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